—

n)

—_—

{
|

Tttt Y

=0

Vitsv, Vgt buy Tty

/

E\

v, +4v, =
+ A\J.\ A\ 0
bv, +bv, + 47, +4

/ _
50 4

v




|? —._-
|\ |\

~ O
N

N\

S =

N N~
/

L. N\
S W
n i
§H D
/\ f\
N o=
\/ \)

D>
\”\.

\] "l\
w2 \
N T

—_— (@)
> | T
o>

Z ‘SI
T p

|l

~

—_ T

a g NT

o> —
IR







d

A, |

7)
ds

EV
o



BOEmM

796m

Transient Response

e wp="1"VT("/total'")

(v)

788m

T79m

760m
a.a

(v)
=
=

—1.8m

—2.8m

2.0m

Ti" /s qn
N incre

ment")

\,,/
__ [\ _
,___ _n ,___, 1 W\
_,__. { _,__ ‘\
' ..,, \
\ X
1.0m 2.0m
time ( s )

p m'"VT(" /e
sggy - vP="31.62m'"VT("/increment")
/
/ /
300u [ [ o L
f |
b [
180U \ \ /
S ooep | / \ _ > \ |
— \ _,_ 4 | e | | j
\ | \ _ —108u !
! i |
,,,_ / _,, : \ __,_ *
—108u A ! I \ | i
j -3@0u g A
-260y -500. ™ il
a.o 1.9m 2.8m B0 1.8m 2.8m
time ( 5 ) time ( s )
v 16,2 VT("/smallsignalir
8.0m - vp=""318.2m"VT("/increment") 280m

2.9m

1@m

0.0

tv)

=1@m

—20m

=30m
2.2

1.8m
time ( s )

2.8m












-S4
[ /

:
b= s ? @f..@ wLwMﬂu\wﬁ
ks

%g+g§¢§ cutrent \ 4?\, |
.N\rm,\?»m\ ,\oI‘»NO =

@.\ — m\mv});\ﬁr:@\\



